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Instruction : All questions carry equal marks.

1. Critically evaluate New Industrial Policy of 1991.
OR

State the objectives behind setting up of public sector enterprises. Do you think that
they success in achieving their goals ?

2. Discuss the changes in the pattern of industrial development after independence in
India.

OR

Critically evaluate the role of multinational (MNCs) especially in transfer of
technology in India.

3. Write a note on various labour legislation in India.
OR

What are the causes of industrial disputes ? Discuss its preventive machinery in India.

4. Discuss the different theories of trade union.
OR

Explain the structure of trade unions in India.

5. For the following each question, select the best answer and write only its number (a,
b, ¢ or d) against the question number in your answer sheet. For example if the
answer for Q. 1 is ‘a’ then write Q. 1 = a. 14
(1) Industrial unions intend to organize all workers within :
(a) A particular company (b)  The United States of America
(c) A broad industry (d) A particular skill or craft
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The union strategy that probably yields the highest wages for both union

members and other workers over the long run is
(a) restricting entry from particular occupations.

(b) lobbying for tariffs against imports that compete with union produced

goods.
(c) setting rigid rules for firms employing only union workers.
(d) facilitating management plans to increase productivity of labour.

According to Industrial Policy Resolution 1948, it divided the industries into

______ categories.

(a) 4 (b 3

() 2 (d) None of above

The shares of public sector undertakings are sold to the retail investors and
institutions in

(a) Initial public offerings

(b) Strategic Sale

(c) Equal Access Voucher Programs

(d) Management Employee Buyout

Maternity Benefit Act 1961 applies to except

(a) The employees who are under Employee’s State Insurance Act
(b) To firms employing less than 10 workers

(c) To firms employing 10 or more persons

(d) None of the above

Employee’s Provident Fund Act 1952 is applied to the establishments

employing
(a) 20 or more workers (b) less than 10 workers
(c) 100 or more workers (d) none

Foreign Exchange Management Act has been passed in

(@ 1999 (b) 2000
(c) 1985 (d) none
5 P.T.O.



(8) The most important small scale industry in India is
(a) Cord industry (b) Match-box industry
(c) Handloom industry (d) Toy making industry
(9) Which one of the following is not an important problem faced by small scale
industries in India ?
(a) Finance (b) International trade
(c) Raw materials (d) Competition from large scale industries
(10) Industrial licensing was abolished for all industries in 1991 except for
(a) Small scale industries
(b) Industries related to security and strategic concerns
(c) Multinational corporations
(d) Export oriented industries
(11) Which one of the following Indian industries lies largely in the public sector ?
(a) Sugar industry (b)  Steel industry
(c) Jute industry (d) Cotton textile industry
(12) The first trade union in India was
(a) Madras Labour Union (b) Bombay Postal Union
(c) Printer’s Union of Calcutta (d) All India Trade Union of Congress
(13) The weakness of the trade union movement is
(a) Working class leadership (b)  Outside leadership
(c) Poor leadership (d) Poor training
(14) The highest government machinery to settle the industrial disputes in India is
(a) Labour Courts (b) National Industrial Tribunals

(c) Joint Management Council (d) Court of Inquiry
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() Qg=c+dP (d) Qy=Q
15 WAl otalRld 2aufa2i-Adl Bud 2100 59 4Rl srUMl 2 9 2
(a) d-dl Bud Hi3d gkl Hadl asw.
(b) d-l Bud W3a-dl aterdl 2uudl el ©.
(c) d-ll Bua wiadl u .
(@) d-dl Bud RBuz 4l ¢ldl.
wed[Hldd Hd-l G3d Hie 59 Ard %33 o ?
(a)  5a o Adls2wll elal A
(b) Adls2ell Yut glal NS
(c) aMlswll (Bl elal st
(d) uMlsei-dl dval sidAEA 2dl gedl elidl Ad¢
569 AR ulyel At dl Ml »eu lHsid 23 sdaly ?
(&) (K-M)=(G-1) (b) K-M)>(G-1)
(c) (K-M)<(G-1) (d (K-M)=0
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(9) Yo AHls2eL Hidaul AlssA 2lMeld 2y eld dl d-il 2ueRL Hie 59 Ugld
AUl wsly ?

(a) ~dy ol ugla (b) uRe yAdH aof ugla
(c) Az ugld (d) AL 2814 ugla
(10) 10 ad-l %el-%el 40 sotl-l aulall wA-2Alas-l sl sl 2issi 9
seay ?
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(c) u-d 32l (d) ¥ el
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(c) audl una (d) =2dl una
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() E@=0 (b) E(u)=o0
(c) Ew=o0 (d E®@>0
(13) UAd 32l ugla 3ol usiR-l 2158l s3el Hledl we ay Gualdll o 2
(a) R Sl 25 AHIUAL Sy,
(b) w1 HUSAlAL 2sHlL ol ¥ [Gdd el
(c) R Hildlol sl A9l S,
(d) U Hledll 2isHiHl [@REar .
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(a) Rz Al (b) R sl
(c) aedl el (d) aadl =el
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1.  Explain the meaning of simultaneous equation, model with an example and write a
detail note on its usefulness. 14
OR

Answer the questions in the context of the model given below :

Qi=a,-a,P+Y+u where, Q,=demand

QS=b0+b1P+V_V+v QS:Supply
Q4 =10Q P = Price

(a) Is this an economic model or an econometric model ? Why ? Explain.
(b) Test the identifiability of this model.

2. Explain the indirect least square estimation method for simultaneous equations model.
What are its assumptions ? 14
OR
Explain the instrumental variable method or two stage least square estimation method
for estimating simultaneous equations model.

3.  Explain the meaning of time-series used for estimation in econometric model and
explain its components. 14
OR
Write a note on any two :
(1) Random process
(2) Stationary process & difference stationary process
(3) Cross section data
(4) Integrated stochastic process

4. What is panel data ? Explain its uses. 14
OR
Write notes on :
(I) Random effect model
(2) Fixed effect model
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5. Choose the appropriate answer for the following questions and write its number in your
answer book : 14

(I)  Which is an econometric model ?

(a) Qy=a-bP+u (b) Qy=a-bP
(c) Q=c+dP (d) Qy=0Q,

(2) What assumption is made about the exogeneous variables of an econometric
model ?

(a) Its value can be obtained by the model.
(b) Its value is given outside the model.
(c) Its value has to be found out.
(d) Its value is not fixed.
(3)  Which condition is required for solution of an econometric model ?
(a) Totally there should be two equations.
(b) Equations must be linear.
(c) Equations must be non-linear.
(d) Number of equations should be equal to endogenous variables.
(4)  Which condition defines an under identified model ?
(a) (K-M)=(G-1) (b)) K-M)>(G-1)
() (K-M)<(G-1) (d K-M)=0
Where K = total variables of the model
G = total equations of the model
M = the equation being identified
(5) How many conditions should be satisfied for identifiability of model ?
(a) Two (b) Three
(c) More than two (d) Four
(6) When 2 SLS method can be used ?
(a) When model is under identified.
(b) 'When model is exactly identified.
(c) When it is simultaneous equations model.
(d) When model is over identified.
(7)  Which method can be used for estimation of a single equation model ?
(a) 2SLS (b) 3SLS
(c) Least square method (d) Instrumental variable method
(8) Which of the following simultaneous equation shows bias ?
(@ EX)=0 (b) EXp)=#0

(© EXp)=0 d) EX)>0
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Which method can be used for estiamating an exactly indentified simultaneous
equations model ?

(a) Least square estimation method
(b) Indirect least square estimation method
(c) Average method

(d) Direct estimation method

Collection of data for 40 families about their income and expenditure for over
10 years will be called as

(a) Time series data (b) Cross section data

(c) Panel data (d) Linear series

When the number of years in a time series data and number of observations in
cross section data are equal, it is called

(a) Balanced panel (b) Unbalanced panel
(c) Increasing panel (d) Decreasing panel
One important assumption about the error term used in econometric model is

() Ew=0 (b) E(u)=o0

(c) Ew=o0 (d E®@>0

In which type of information panel data method is more useful ?
(a) When there is similarity in the observation.

(b) When the observations are very large.

(c) When the observations are very small.

(d) When there is variety in the collected observations.

If in the context of time, there is change in mean and variance of time series
data, then it is called as

(a) unstable series (b) constant series
(c) decreasing series (d) increasing series
12



